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PER 312/2 K.C.S.E 2003
SECTION A

Answer all the questionsin this section

What is urbanization?

Givetwo differencesin the function of New Y ork and

Nairobi cities.
New Y ork

Nairobi

A part from draining swamps, state two other methods
used in reclaiming land in Kenya.
State three benefits that resulted from reclamation of the

Y ata swamp

Givethree physical factors that favour coffee growing

in Kenya highlands.

State two problems facing coffee farming in Kenya

Why isit necessary to conserve water?
How does terracing help in water conservation?
State three reasons why National parks have been established

in Kenya.

A part from marine parks, give two other tourist attractions

found at the coast of Kenya.

6. The table below shows the value of Kenyans imports and exportsin 1999.
Useit to answer questions(a)

IMPORTS EXPORTS
ITEM VALUE IN K$ ITEM VALUE IN K$
‘000’ ‘000°

Food & Beverages | 760,000 Food, beverageand | 3270000
tobacco

Industrial 3400000 Basic materials 1100000

supplies(Non food) minerals fuels and
lubricants

Fuel and Lubricants | 2000000 Manufactured goods | 1400000

Machinery and 1700000 Miscellaneous 30000

other capital

requirement

Transport 1500000

equipment

Miscellaneous 960,000

Total 10,320,000 Total 5800000

a) Use aradius of 5cm, draw a pie chart to represent data on exports shown

on the table above. Show your calculations.

b)

balance of trade.

0)

Explain four measures, which Kenya may take to reduce the unfavourable

Explain four benefits that Kenya derives from international trade.
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7. i ¢ Give two primary sources of population on data.

qf)  What information can be derived from a population pyramid?
,béb)@ Describe three ways in which the population of Kenya differs
UL from that of Sweden.

.\Of\{o ¢ Explain four reasons of rural migration in Kenya.
A'\6 ,Z,s\ d) Explain three problems, which result from the high
Qg’\(\o@ population growth rate in the East African countries.
&P 8. a) Name three agricultural non food manufacturing industries
~§§.\ in Kenya.
Q*jS\ b)i)  Draw outline map of Kenya (map should have aframe/ outline
‘. correct).
«Q’\\Q i) Onthe outline map, mark and name two towns where motor

< ‘,\\Q vehicles are assembl ed.
<<°\6\ c)i)  Explain three causes of the decline in the textile industry in Kenya.

3 i)  Describe the measures that should be taken to control the following

effects of industrialization.
Water pollution
Rural urban migration.
d) Explain four factors, which have favoured the devel opment
of the electronics industry in Japan.
9. Use the map of North America (in question paper) to answer question (a)

G i

Fram il f o %ﬁ

hey

a)i)  Nametwo methods of fishing used in the shaded areas,
ii)  Nametwo types of fish caught along the west coast of Canada
iii)  Explain how the following factors favour fishing in the
shaded areas. Indented coastline.

b) Explain four ways in which marine fisheriesin Kenya
can be conserved.
()] i) Give three methods used to preserve fish

i) Explain three problems experience by fishermen while
fishing in Lake Victoria.
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